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Exercises 1.1
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Writ= the additlve inverse of gach of tha following:
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This equaiity |7 17 represents that the additive wwerse of 175 <17 e,
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Guestion 4:
Fird [he mltl plicative Inverse of the lollowing
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Mupltipllcaiive inverse = —1

Quiestion §

MName the property wnder multiphcation used m gach of the following |
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{1 5 $°"%
1 15 the mulbplicative kdentity.
() Commutativity
(1] Mulbiplicative invErse
Duesation b

L] i
Multiply 12 by the reciprocal of |6

Answer:
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Tell what peoperty allows you to computs - ! 3,
ArSEr:
; Lativity
Question A

3 )
15 Pthe muipicative invers=of % 7 Wiy or why not?
Ansyier:
IT it i% the mudtiplicative inverse, then the product should be 1.
However, here, the product is not 1 Bs
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Question 9

L

is 0.1 the mudtiplicative inversa of 3 7 Why or why not?

Answer
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Here, the product is 1. Hence, 0.3 is the multiplicative inverse of .
Question 10:

Write:

(1) The ratienal numiber that does nol have & redpnoc.

(i) The rational muembkers that sre equal 1o their reciprocals.

(i) The rational numiber that |5 equal to its Negative.

Anwwar:

(1) 0 is a mbonal number but its reciprocal |5 fot daflned,

{I1] 1 and =1 are the rational numbers that are egual to thelr reciprecals.
(i) O & tha rational numiber that 1S equal (D 1ts negative.

Question 11!

Fill in the blanks.

{1} Zeru has reciprocal.
(1] Thee mumbers and are thaeir owen reciprocals
(i} The recyprocal of = 9 i§

|
(iv) Reciprocal of 7, whers 120y
{v] The product of two rational numbers is always a
{wi] The reciprocal of 2 postive rationad numiber is
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ARSwer:
(1) Na
(] 1; =1

i —

{1}
{lv) =
{v) Rationsl number

{¥I) Pogitive rational nurmber
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Eneerciue 1.3

Juestion 1

Represent these numbers on the number line,

T -5
gy Ay o
Ansvwer;

T

(1) :un be represented on the number line as follows.
7
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.
(1] ®can be represented on the number line as follows
=
Questien 2
-3 -5 -9
Represesnt ﬁ-ﬁ'ﬁun the number line,
Anseer
-2 -5 -9
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Questiaon 3;
Witz five ratonal numbers which are emaller e 2.
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4 can be represented as LB
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Therslore, five rational numbers amaller than 2 are
13 12 11 1 9
TLTITJ1I?

Queation &

2 1 B0
5 and 2 can be represented as 20 20 pegpectively
- |

Therefore, ten rational nuMBbers between  © and = are
7 L] 5 4 3 b 1

1
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Thiesticn 5
Find live ratwonal numbert betwesn
3 4
= phdd
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Argwer:

2 1 0 &
and i

1

gy A * can be reprosented as 4% 4% respectvely.

X 4
Therefore, five rabional numbers between 3 -]

1 31 33 M 35
457457 45745748
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=L vl 2 = — mnd
[ Vean be representod as  © b respectively
Therelore, five ratonal numbers betwesn = Yare
g 7 | i 4
& & ' & &
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(m) 4 T can be represented as 32 12 respectively.
1
: i

Therelpre, fve ratsonsl mumbers bebtweesn 4
golie 11 12 13

232

Cueesbiam 6
‘Write fve rabonal numbers grester than — 2.,

Answar

Therefore, ive rabonal aumbers greater than —2 are
¥ 12 |1 m 9
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Qs fion 7

i 3
Fird ten rational numbers betwesn = and 4

A e

i i
Sand 4 can be represented as 30

A0 pegpectively.
3 i

Therefore, ten rational numbers botween © and 4 are
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